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APPROACH
T woud [Ke 4o exfain why T want

To UWe o 1ange o5 approaches 1o
Solve the  problemn. first, I woud like 4o
use. Adddion o Sind out the amotuat

o5 pale T wont fo gle the pur
bags 40, L also need 4o use Addi+ion

do_add_up the totl Cost 0§ each e
Setond, T_want fo_use Subtiacfion +o
Sind oud he_amount f mohey
lestaster purdmsing each type of iten
Thid, L worrt 1o_use Mulbiphcattr) 4o
Sind. out fhe amount of pacKets
fot T will need 4o use I also
used multipliatin 1o Sind out e
tofal_amount e§ moned ot T can
Ust fo_puichase. the Hems. ourth,
T wont to use division o Snd out

the_omount oS matey that can spend_on




each people.At st I wou i like.

10 USE _grou ,V/@ ord. gmph«%a fﬂ'a(
out the amount of item that

each people_con_have.L also
want to_Use _bar chart 10 a//lkp/@wmﬁ
the most ond_least expensie rem.

PREDICTION

Ts 5o dollars .eﬂaugf)\..fa buy what T need? Yes. T

would ke 4o oplue. Z/Lloaﬂybags _using Lo dollas.
T eguly shrd 450 among % people. that means
oach _pesples budgef 1s__approtia fly 2 el

e e kR
50+ 24~ 203 | o




T have seorched 1he Phice of il

Packs. A puck of 12_rmars balS sk
2 dollays ond 30 cnts. Thot mews
each peopl cop_get approvimately

lo blles and 19lva,.owESng_.uzj/l-w

Select a Var/'e};[ 04 s with the simiter price.
There Sore, T_predidt that 50 ddlars I __ehough




ACTION PLAN.

A
£3
a3
‘.___’

un 0 wcmjf To ead. al] 0% the (afa/OQués

%emf R ,pu% In
1%6 part Yy _ pags.
2. Lobl o rame the i pach
1y pe. el aimin,
.i g0 e ma%ema%/ca/ applvache
10 Shd _out answers, g
T, dlw/au the. muodhe matical opemf/orzs o
_GX]Z/_m._DiZL-A*QKQ&[@[LZ--W§QM&9W)QKQ cote
5. Go SAQP[?/_f/?j__,.;_QKdM moke _baudiful party
boLaS |

0, haml ont e mrﬁl 50\95 cmo( o 7%6
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PRILE LIST

" 1 havwe Selednl g Aypes of tems that | would

ln')ﬁe o we for Yy parﬁujjq\c&r.l have lajled

the (st of each f}\tﬁoe of iem  ard cakulated
the unit ,wrf(,e ord Aotal  cost as fhe bl

belows .
Figue 1. f
ITEM  |QuAwTTY|UNET mREE ToTAL (oST
MRS 0 Hese i 00
e @ndid 30 ($012 | $2.80
Twir] Sl e
Julce 24 5032 S
Cockies | 28 [4D43 | $12.00
Dardy bags| 24 3025 | $6.00
RBowouts | 25 [9008 | $2.00
Rty popras) 25 9008 | $200
E)I:%({mf $43.40

ﬁ’lf colculption process of wum't _price. lefer to .

Fisgure 2 and 3.
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Thm are IZ In pack
Lonettl J4 bows,

[ I D~ 5
8343246

T ned 4w buy 2 packs of
Mors tat  cost $6.
6+24-30.25

i 0.1 b
24 6’00
g

2.0
\20

L Pee
Unit Ffr'ee  1s

B
T need 2% bags of cookies.

28-24-4 1e5+ oVers
$3x4-512

L peed b bug 4
cookies That  cost $
12+28-30.43

0.428% $o. %3
28)17%

s

5264
240

it

I's: foige

IX4=284bgs of cookie |

acks of

52 o Werther Bag
| \ AW

There are 30 n [/ cwk
| need 24 candies, |- pac/(
IS ehough 1o Share  befween
24 people.
04l @ma(lef#,/eﬂ ov&T ;
1X 52,90z $2.80

pack of

I need o buy |
wandy  that cost  $2.80.

2|80+243$0- [2

0. ! 04’2.
247]__1_.

60 -

| 44

Fo

Unit Brce  1s 402

There ave 12 h | peK.
Loneeiie 275 bapst o wr
90Dt e - S e

$2.50 +§2.50 = 45

I need 4o bug 2 'ac/(_r of
Swirls v%af cost 15 _,
5424 ~$o. |
4021
24 l+$ % . 4 A

’33 W ««wri







Thee are 25 in | pack-‘
T peed 24 poppers.
,2_5X),:25.yo_pft’l3" : o
25~-2%z) Jes over
Faxlcid oo P

L peed 10 buy | pack
poppers  that ~cost $2.

There: o & - ih )
T peed 24 bags.
8X3=2%

§2x3:j6 , S
T peth To buy 3 packs of
party  pags +ﬁ%# (oslj‘fw ,%OJC
62423025 od

2435

120
e R 20 T L Tt
O

Un't e is 4025

Thete are 25 |n B e
L uneed. .94 .. _b/éa/gutsp.o%k '
o i e AT e
25=-241 lest  over
32,”::,57, AT |
I need o AULS | _pack OJC

blowouts that <Cost — $2
s T ol

ol no00
200

0

Price 1S .io_.DZ o |

?[:”here dare 6 in pack. o
_need 24 tropical pund.
bxX4=24 boxes S i
g.qoxi:-ﬁ.éo S0 TR e
L netd to buy 4 packs of
bO/f es ’H\Q‘l’ (oSt v{ 7l.050. 05 i : ———

Zbo~24= 0.32 N e
1 irele ggr v‘;_a;

COiDEN  CGOIDEN  GOLDEN
PASH ~  PASH 'fgs“ el

24/ 96> N :

.

z
{

TROPICAL
PUNCH
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-] pon
o0

Unit Pace
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Reer 1o figwe L, My Shategy 2 is  based

Qb_,_aoul@w ap #KU/’/’% PHZL _of each j1thz.
/‘43 struteqy 2 s based _on ,_.a(z‘w‘o/,/hg the
tofal ot $434%0 by 24 .This fotal amoun? of

mohey Inchdes _extra__ifems oud of 2% packs.

for QXQm,PIe} i bougM 30 creom candies, 28 cookies,

25 blowouts _and 25 party  poppers. However, I only

“need 24 items edch. Tha’r meons_the st of
extra _ifems s included the ot cost 34340

So_ $181 s more ’ngn WM!Z‘:‘ 3181 includes
the extra itemg ot | don’t need. After my
investigation, | beheve that the opswer 3124

Srom__steategy A5 the most accuinte  answer;
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CONCLUSION

_LSFQM s than 50 dollars  on  o¥gan/sing

my poity bags  Successfully omong 2% pecpl
My pediction was  correct , each party bag
costed 31,74 which was  not  over my
FYed:\cﬁon: 12.08. /Vlg action plan — was  useful,
it kd me fo folow e Sttps fo
(omplete my  project . T Jove used afl
the  mathemtital  approdches P solve  fhe
problem. Egﬂveeno( of my projet |
bae $6ibo et over for my pocket

money ,_LU,l%ou% using +he  mnthematrcal conepk
and  shodegles, | may not be able o complere

my FVOjec% of Ope Kqﬁiy_m_pamfy__A_Aqgi,ﬁzeml/ on
I bave cdone o great job! @
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REFLECTION

T wos wordering how | would_evenly share
mu meD/npss o( mu k/rf/»dau W/J}; my
d@szmafgxgg__compleﬁag _Operaﬁan Parf’g
bags, | used  disseent oppreaches 1o evenly
share._the lollies and fous. Most /mporvéznf/q
Ld:dnffwa@[i_ﬁ%&bad{wacomf T larned
that | can use.qrouping when | om
i@ng to shoye evenly.L leaymed that [

can__nse the Sour operafion Strtegies fo
distribute _mg,_ﬂ,b/.'rfba(qgu_..,,’rmafs,I coh Use.
these approackes.when | o shopping, So ot

e ol el el
In the fufure, when | become  school

Maimm__%mup%&jmkg__and__. choe

work fload  with my_Team motes fairly,

| an_use. these  Mothmoh@] aplpmaoées 1o

baan s

Solve my  real lise prob/em Sy kg




